# On an Open Problem of P. Turán Concerning Birkhoff Interpolation Based on the Roots of Unity 

J. Szabados<br>Mathematical Institute, Hungarian Academy of Sciences, Reàltanoda u. 13-15, Budapest H-1053, Hungary<br>AND<br>A. K. Varma<br>Department of Mathematics, Lniversity of Florida, Gainessille, Florida 32611, U.S.A.<br>Communicated by Paul Erdös

Received February 26. 1985


#### Abstract

In 1974 P. Turán (J. Approx. Theory 29 (1980), 23-85) raised many interesting open problems in approximation theory, some of which are on Birkhoff interpolation. The object of this paper is to answer Problem XLVI in the affirmative. In fact in our two main theorems we treat a case that is more general than the case of the problem. 1986 Academis Press. Inc.


## Introduction

Following G. D. Birkhoff (see [3]), P. Turán and his associates have initiated the problem of $(0,2)$ interpolation where the value and second derivative of the interpolatory polynomial are prescribed at given points ("knots"). This problem has been extensively discussed in Chapter 12 of [3] for the case that the knots are the zeros of $\left(1-x^{2}\right) P_{n-1}^{\prime}(x), P_{n}$ being the $n$ th-degree Legendre polynomial.

The problem of Birkhoff interpolation on the unit circle has been. initiated by $O$. Kis [2] for the special knots $Z_{n}=\left\{z_{k n}=e^{2 \pi i k n n}\right.$; $k=1,2, \ldots, n\}$, the $n$th roots of unity. The early results dealt with the problems of existence, uniqueness, and explicit representation and the problem of convergence of $(0,2)$ interpolation based on the nodes $Z_{n}$. In the same paper $O$. Kis also resolved the corresponding problem of $(0,1,3)$ interpolation. Later A. Sharma [6] considered the more general case of
$(0, m)$ interpolation based on the nodes $Z_{n}$. The main results of Sharma and Kis may be described by the following theorems.

Theorem A. If $z_{k n}=\exp (2 \pi k i / n), \quad k=1,2, \ldots, n, \quad$ then the unique polynomial $R_{n, m}(z)$ satisfying

$$
\begin{equation*}
R_{n, m}\left(z_{v n}\right)=\alpha_{v n}, \quad R_{n, m}^{(m)}\left(z_{v n}\right)=\beta_{v n}, \quad v=1,2, \ldots, n \geqslant m \tag{1.1}
\end{equation*}
$$

is

$$
\begin{equation*}
R_{n, m}(z)=\sum_{k=1}^{n} \alpha_{k n} A_{k, n, m}(z)+\sum_{k=1}^{n} \beta_{k n} B_{k . n, m}(z), \tag{1.2}
\end{equation*}
$$

where the fundamental polynomials $A_{k, n, m}(z), B_{k, n, m}(z)$ are given by

$$
\begin{align*}
& A_{k, n, m}(z)=l_{k n}(z)-\frac{1}{n} \sum_{v=0}^{n-1} \lambda_{v, n, m} z_{k n}^{n-v}\left(z^{n+v}-z^{v}\right),  \tag{1.3}\\
& B_{k, n, m}(z)=\frac{z^{n}-1}{n} \sum_{v=0}^{n-1} z_{k n}^{m-v} \mu_{v, n, m} z^{v} \tag{1.4}
\end{align*}
$$

with

$$
\begin{gather*}
l_{k n}(z)=\frac{z_{k n}}{n} \frac{z^{n}-1}{z-z_{k n}}, \quad k=1,2, \ldots, n,  \tag{1.5}\\
\lambda_{v, n, m}=\frac{(v)_{m}}{(v+n)_{m}-(v)_{m}}, \quad \mu_{v, n, m}=\frac{1}{(v+n)_{m}-(v)_{m}},  \tag{1.6}\\
(v)_{m}=v(v-1) \cdots(v-m+1) \tag{1.7}
\end{gather*}
$$

Theorem B. Let $f(z)$ be analytic in $|z|<1$ and continuous in $|z| \leqslant 1$. (This class of functions will be denoted by $C[|z| \leqslant 1]$.) Let $w(f, \delta)$ be the modulus of continuity of $f(\exp i \theta), 0 \leqslant \theta \leqslant 2 \pi$. If

$$
\begin{equation*}
\lim _{\delta \rightarrow 0} w(f, \delta) \log \delta=0 \tag{1.8}
\end{equation*}
$$

and

$$
\begin{equation*}
\beta_{k n}=o\left(\frac{n^{m}}{\log n}\right), \quad k=1,2, \ldots, n \tag{1.9}
\end{equation*}
$$

then the polynomial

$$
\begin{equation*}
R_{n, m}(f, Z)=\sum_{k=1}^{n} f\left(z_{k n}\right) A_{k, n, m}(z)+\sum_{k=1}^{n} \beta_{k, n, m} B_{k, n, m}(z) \tag{1.10}
\end{equation*}
$$

converges uniformly to $f(z)$ in $|z| \leqslant 1$.

In 1974, J. Szabados [8] considered the interpolatory procedure $R_{n, m}(f, z)$ in the special case $m=2$ and $\beta_{k n}=0, k=1,2, \ldots, n$. We shall denote this special case by

$$
\begin{equation*}
I_{n, 2}(f, z)=\sum_{k=1}^{n} f\left(z_{k n}\right) A_{k, n, 2}(z) \tag{1.11}
\end{equation*}
$$

Let $w(h)$ be an arbitrary modulus of continuity, and denote by $A C(w)$ that class of functions $f(z)$ which are analytic in $|z|<1$, and whose modulus of continuity $w(f, h)$ in $|z| \leqslant 1$ is of order $O(w(h))$ (as $h \rightarrow+0$ ). How does $I_{n}(f, z)$ approximate a function $f(z) \in A C(w)$ ? The answer to this problem is given by

Theorem C (J. Szabados). If $f(z) \in A C(w)$ then

$$
\begin{equation*}
\max _{|=|=1}\left|f(z)-I_{n, 2}(f, z)\right|=O(w(1 / n) \log n) . \tag{1.12}
\end{equation*}
$$

Moreover, the above estimate (1.12) cannot be improved; viz., to every w( $h$ ), there exists a function $f(z) \in A C(w)$ such that

$$
\begin{equation*}
\limsup _{n \rightarrow \infty} \frac{\left|f(1)-I_{n, 2}(f, 1)\right|}{w(1 / n) \log n}>0 \tag{1.13}
\end{equation*}
$$

In view of Theorem $\mathrm{B}, \mathrm{P}$. Turán [9] raised the following problem concerning $I_{n .2}(f, Z)$ as defined by (1.11).

Problem XLVI. Is it true that, for all $f(z)$ analytic in $|z|<1$ and continuous in $|\bar{z}| \leqslant 1$,

$$
\begin{equation*}
\int_{c:|z|=1}\left|f(z)-I_{n, 2}(f, z)\right|^{2}|d z|=0 ? \tag{1.14}
\end{equation*}
$$

The object of this paper is to answer this problem, namely,

ThEOREM 1. Let $f(z) \in C[|z| \leqslant 1]$ and let

$$
\begin{equation*}
I_{n, m}(f, z)=\sum_{k=1}^{n} f\left(z_{k n}\right) A_{k, n, m}(z) \tag{1.15}
\end{equation*}
$$

where $A_{k, n, m}(z)$ is defined by (1.3). Then

$$
\begin{equation*}
\left(\frac{1}{2 \pi} \int_{C:|z|=1}\left|f(z)-I_{n, m}(f, z)\right|^{2}|d z|\right)^{1 / 2} \leqslant C_{1} w\left(f, \frac{1}{n}\right) \tag{1.16}
\end{equation*}
$$

where $C_{1}$ is a positive absolute constant and $w(f, 1 / n)$ has the same meaning as in Theorem $B$.

Theorem 2. Let $f(z) \in C[|z| \leqslant 1]$ and $R_{n, m}(f, z)$ be as defined by (1.10). Then

$$
\lim _{n \rightarrow \infty}\left(\frac{1}{2 \pi} \int_{C:|z|=1}\left|f(z)-R_{n, m}(f, z)\right|^{2}|d z|\right)^{1 / 2}=0
$$

provided $\beta_{k n}=o\left(n^{m}\right), k=1,2, \ldots, n$.

## 2. Preliminaries

We need the well-known fact that the functions $1, z, z^{2}, \ldots$ are mutually orthogonal on the unit circle $c:|z|=1$; i.e., we have

$$
\begin{equation*}
\int_{C} z^{k} z^{-n}|d z|=\frac{1}{i} \int_{C} z^{k-n-1} d z=0 \quad \text { for } \quad k \neq n \tag{2.1}
\end{equation*}
$$

For our purpose we need another known representation of $l_{k n}(z)$. This is given by

$$
\begin{equation*}
l_{k n}(z)=\frac{1}{n} \sum_{v=0}^{n-1} z_{k n}^{n-v} z^{v} \tag{2.2}
\end{equation*}
$$

From (2.2) we may conclude that

$$
\begin{equation*}
l_{k n}\left(z_{j n}\right)=\frac{1}{n} \sum_{v=0}^{n-1} z_{k n}^{n-v} z_{j}^{v}=\frac{1}{n} \sum_{v=0}^{n-1} z_{k n}^{n-v} \bar{z}_{j n}^{n-v} . \tag{2.3}
\end{equation*}
$$

Next, we set

$$
\begin{equation*}
a_{v n}=\frac{1}{n} \sum_{k=1}^{n} e_{k n} z_{k n}^{n-v}, \quad v=0,1, \ldots, n-1 \tag{2.4}
\end{equation*}
$$

where $e_{k n}$ are arbitrary numbers. Then ffrom (2.2), (2.3), and (2.4) we have

$$
\begin{equation*}
\sum_{v=0}^{n-1}\left|a_{v n}\right|^{2}=\frac{1}{n} \sum_{k=1}^{n}\left|e_{k n}\right|^{2} \tag{2.5}
\end{equation*}
$$

Proof of (2.5) can be given as follows:

$$
\begin{aligned}
\sum_{v=0}^{n-1}\left|a_{v n}\right|^{2} & =\sum_{v=0}^{n-1} a_{v n} \bar{a}_{v n} \\
& =\frac{1}{n^{2}} \sum_{v=0}^{n-1} \sum_{k=1}^{n} e_{k n} z_{k n}^{n-v} \sum_{j=1}^{n} \bar{e}_{j n} \bar{z}_{j n}^{n-v} \\
& =\frac{1}{n} \sum_{k=1}^{n} \sum_{j=1}^{n} e_{k n} \bar{e}_{j n} \frac{1}{n} \sum_{v=\mathrm{c}}^{n-1} z_{k n}^{n-v} \bar{z}_{j n}^{n-v} \\
& =\frac{1}{n} \sum_{k=1}^{n} \sum_{j=1}^{n} e_{k n} \bar{e}_{j n} l_{k n}\left(z_{j n}\right)=\frac{1}{n} \sum_{k=1}^{n}\left|e_{k n}\right|^{2} .
\end{aligned}
$$

## 3. Some Lemmas

For the proof of our theorems we need the following lemmas.
Lemma 3.1. Let $L_{n}(f, z)$ denote the Lagrange interpolation polynomial based on the zeros $z_{k n}$. Then

$$
\begin{equation*}
\int_{C:|z|=1}\left|L_{n}(g, z)\right|^{2}|d z|=\frac{2 \pi}{n} \sum_{k=1}^{n}\left|g\left(z_{k n}\right)\right|^{2} \tag{3.1}
\end{equation*}
$$

Proof. We know that

$$
\begin{aligned}
L_{n}(g, z) & =\sum_{k=1}^{n} g\left(z_{k n}\right) I_{k n}(z) \\
& =\sum_{k=1}^{n} g\left(z_{k n}\right) \frac{1}{n} \sum_{v=0}^{n-1} z_{k n}^{n-v^{v}} \\
& =\sum_{v=0}^{n-1} z^{v} \frac{1}{n} \sum_{k=1}^{n} g\left(z_{k n}\right) z_{k n}^{n-v} \\
& =\sum_{v=0}^{n-1} z^{v} b_{v n}, \quad b_{v n}=\frac{1}{n} \sum_{k=1}^{n} g\left(z_{k n}\right) z_{k n}^{n-v} .
\end{aligned}
$$

Therefore, on using (2.1)-(2.4) we have

$$
\begin{aligned}
\int_{C:|z|=1}\left|L_{n}(g, z)\right|^{2}|d z| & =2 \pi \sum_{v=0}^{n-1}\left|b_{v n}\right|^{2} \\
& =\frac{2 \pi}{n} \sum_{k=1}^{n}\left|g\left(z_{k n}\right)\right|^{2}
\end{aligned}
$$

(here in applying (2.4) we put $e_{k n}=g\left(z_{k n}\right)$ ).
This proves the lemma. The next lemma is due to O . Kis [2].

Lemma 3.2. Let $f(z) \in C[|z| \leqslant 1]$. Let $w(f, \delta)$ be the modulus of continuity of $f(\exp i \theta), 0 \leqslant \theta \leqslant 2 \pi$. Then there exists a polynomial $F_{n}(z)$ of degree $\leqslant n-1$ such that for $|z| \leqslant 1$

$$
\begin{equation*}
\left|f(z)-F_{n}(z)\right| \leqslant 6 w(f, 1 / n) \tag{3.2}
\end{equation*}
$$

and

$$
\begin{equation*}
\left|F_{n}^{(m)}(z)\right| \leqslant C_{2} n^{m} w(f, 1 / n) \tag{3.3}
\end{equation*}
$$

In the next lemma we state some facts about Lagrange interpolation polynomials.

Lemma 3.3. Let $f(z) \in C[|z| \leqslant 1]$ and denote by $P_{n-1}(z)$ the polynomial of best approximation to $f(z)$ on $|z| \leqslant 1$; viz.,

$$
\begin{equation*}
\left|f(z)-P_{n-1}(z)\right| \leqslant E_{n-1}(f) \tag{3.4}
\end{equation*}
$$

Then we have

$$
\begin{align*}
& \left(\frac{1}{2 \pi} \int_{C:|z|=1}\left|L_{n}\left(f-P_{n-1}, z\right)\right|^{2}|d z|\right)^{1 / 2} \leqslant E_{n-1}(f),  \tag{3.5}\\
& \left(\frac{1}{2 \pi} \int_{C:|z|=1}\left|L_{n}(f, z)-f(z)\right|^{2}|d z|\right)^{1 / 2} \leqslant C_{2} E_{n-1}(f), \tag{3.6}
\end{align*}
$$

and

$$
\begin{equation*}
\left(\frac{1}{2 \pi} \int_{C}\left|L_{n}\left(f-F_{n}, z\right)\right|^{2}|d z|\right)^{1 / 2} \leqslant C_{3} w\left(f, \frac{1}{n}\right) \tag{3.7}
\end{equation*}
$$

where $F_{n}(z)$ are polynomials of degree $\leqslant n-1$ (as stated in Lemma 3.2).
Proof. Proof of (3.5) is an immediate consequence of (3.1) and (3.4); proof of (3.6) follows from (3.5) and (3.4); proof of (3.7) is a consequence of (3.2) and (3.6). Next we shall prove

Lemma 3.4. Let $I_{n, m}(z)$ be as defined by (1.15). Let $F_{n}(z)$ be the polynomial of degree $\leqslant n-1$ satisfying (3.2) and (3.3). Also let $P_{n-1}(z)$ be the polynomial of best approximation to $f(z)$ satisfying (3.4). Then there exist absolute positive constants $C_{4}$ and $C_{5}$ independent of $n$ such that

$$
\begin{equation*}
\left(\frac{1}{2 \pi} \int_{C:|z|=1}\left|I_{n, m}\left(f-F_{n}, z\right)\right|^{2}|d z|\right)^{1 / 2} \leqslant C_{4} w\left(f, \frac{1}{n}\right) \tag{3.8}
\end{equation*}
$$

and

$$
\begin{equation*}
\left(\frac{1}{2 \pi} \int_{C:|z|=1}\left|I_{n, m}\left(f-P_{n-1}, z\right)\right|^{2}|d z|\right)^{1 / 2} \leqslant C_{5} E_{n-1}(f) \tag{3.9}
\end{equation*}
$$

Proof. Here we will prove only (3.9) for the proof of (3.8) and (3.9) are the same. Let $g(z)=f(z)-P_{n-1}(z) \in C[|z| \leqslant 1]$. Then on using (1.15), (1.3), (1.5), (1.6), and (1.7) we have

$$
\begin{aligned}
I_{n, m}(g, z)= & \sum_{k=1}^{n} g\left(z_{k n}\right) l_{k n}(z) \\
& -\frac{1}{n} \sum_{k=1}^{n} g\left(z_{k n}\right) \sum_{v=0}^{n-1} z_{k n}^{n-v} \lambda_{v, n, m}\left(z^{v+n}-z^{v}\right) \\
= & L_{n}(g, z)-\sum_{v=0}^{n-1} \lambda_{v, n, m}\left(z^{v+n}-z^{v}\right) \frac{1}{n} \sum_{k=1}^{n} g\left(z_{k n}\right) z_{k n}^{n-v} \\
= & L_{n}(g, z)-\sum_{v=0}^{n-1} \lambda_{v, n, m}\left(z^{v+n}-z^{v}\right) a_{v n},
\end{aligned}
$$

where

$$
\begin{equation*}
a_{v n}=\frac{1}{n} \sum_{k=1}^{n} g\left(z_{k n}\right) z_{k n}^{n-v} . \tag{3.10}
\end{equation*}
$$

Next, on using (2.1) and (3.1) we obtain

$$
\begin{aligned}
\int_{|z|=1} & \left|I_{n, m}(g, z)\right|^{2}|d z| \\
\leqslant & 2 \int_{|z|=1}\left|L_{n}(g, z)\right|^{2}|d z| \\
& +2 \int_{|z|=1}\left|\sum_{v=0}^{n-1} \lambda_{v, n, m} a_{v n} z^{v+n}\right|^{2}|d z| \\
& +2 \int_{|z|=1}\left|\sum_{v=0}^{n-1} \lambda_{v, n, m} a_{v, m} z^{v}\right|^{2}|d z| \\
= & \frac{4 \pi}{n} \sum_{k=1}^{n}\left|g\left(z_{k n}\right)\right|^{2}+8 \pi \sum_{v=0}^{n-1}\left|\lambda_{v, n, m}\right|^{2}\left|a_{v, n}\right|^{2}
\end{aligned}
$$

If is known that $\lambda_{v, n . m}$ as defined by (1.6) satisfy the inequality $\left(\lambda_{\text {vrm }}\right) \leqslant C_{6}$, where $C_{6}$ is an absolute constant. Therefore

$$
\begin{align*}
& \frac{1}{2 \pi} \int_{|z|=1}\left|I_{n, m}(g, z)\right|^{2}|d z| \\
& \quad \leqslant \frac{2}{n} \sum_{k=1}^{n}\left|f\left(z_{k n}\right)-P_{n-1}\left(z_{k n}\right)\right|^{2}+4 C_{6}^{2} \sum_{v=0}^{n-1}\left|a_{v n}\right|^{2} \tag{3.11}
\end{align*}
$$

Now, on using (2.4), (2.5), and (3.10) we obtain

$$
\begin{align*}
\sum_{v=0}^{n-1}\left|a_{v n}\right|^{2} & =\frac{1}{n} \sum_{k=1}^{n}\left(g\left(z_{k n}\right)\right)^{2} \\
& =\frac{1}{n} \sum_{k=1}^{n}\left|f\left(z_{k n}\right)-P_{n-1}\left(z_{k n}\right)\right|^{2} \tag{3.12}
\end{align*}
$$

on combining (3.11), (3.12) and making use of (3.4) we obtain

$$
\begin{aligned}
& \left(\frac{1}{2 \pi} \int_{|z|=1}\left|I_{n, m}(g, z)\right|^{2}|d z|\right) \\
& \quad \leqslant\left(\frac{4 C_{6}^{2}+2}{n}\right) \sum_{k=1}^{n}\left|f\left(z_{k n}\right)-P_{n-1}\left(z_{k n}\right)\right|^{2} \\
& \quad \leqslant\left(2+4 C_{6}^{2}\right)\left(E_{n-1}(f)\right)^{2}
\end{aligned}
$$

From this we obtain (3.9). This proves the lemma. The next two lemmas are needed for the proof of our Theorem 2.

Lemma 3.5. Let $F_{n}(z)$ be the approximating polynomial of degree $\leqslant n-1$ satisfying (3.2), (3.3) and let $I_{n, m}(f, z)$ be as defined by (1.15). Then we have

$$
\begin{equation*}
\left(\frac{1}{2 \pi} \int_{|z|=1}\left|F_{n}(z)-I_{n, m}\left(F_{n}, z\right)\right|^{2}|d z|\right)^{1 / 2} \leqslant C_{6} w\left(f, \frac{1}{n}\right) \tag{3.13}
\end{equation*}
$$

Proof. We know that

$$
\begin{equation*}
F_{n}(z)-I_{n, m}\left(F_{n}, z\right)=\sum_{k=1}^{n} F_{n}^{(m)}\left(z_{k n}\right) B_{k, n, m}(z) \tag{3.14}
\end{equation*}
$$

where $B_{k, n, m}(z)$ is defined by (1.4). On substituting the value of $B_{k, n, m}(z)$ from (1.4) into (3.14) we obtain

$$
\begin{align*}
F_{n}(z) & -I_{n, m}\left(F_{n}, z\right) \\
& =\sum_{k=1}^{n} F_{n}^{(m)}\left(z_{k n}\right) \frac{z^{n}-1}{n} \sum_{v=0}^{n-1} z_{k n}^{m-v} z^{v} \mu_{v, n, m} \\
& =\sum_{v=0}^{n-1}\left(z^{v+n}-z^{v}\right) \mu_{v, n, m} \frac{1}{n} \sum_{k=1}^{n} F_{n}^{(m)}\left(z_{k n}\right) z_{k n}^{m-v} \\
& =\sum_{v=0}^{n-1}\left(z^{v+n}-z^{v}\right) \mu_{v, n, m} d_{v, n, m} \tag{3.15}
\end{align*}
$$

where we set

$$
\begin{equation*}
d_{v, n, m}=\frac{1}{n} \sum_{k=1}^{n} F_{n}^{(m)}\left(z_{k n}\right) z_{k n}^{m-v} \tag{3.16}
\end{equation*}
$$

We also need

$$
\begin{equation*}
\left|\mu_{v, n, m}\right| \leqslant C_{7} / n^{m}, \quad v=0,1, \ldots, n-1, \tag{3.17}
\end{equation*}
$$

which follows from (1.6). Now on using (2.1), (2.4), (2.5), (3.15), (3.16), (3.17), and (3.3) we have

$$
\begin{aligned}
& \frac{1}{2 \pi} \int_{|=|=1}\left|F_{n}(z)-I_{n, m}\left(F_{n}, z\right)\right|^{2}|d z| \\
& \quad=2 \sum_{v=0}^{n-1}\left|\mu_{v, n, m}\right|^{2}\left|d_{v, n, m}\right|^{2} \\
& \quad \leqslant \frac{2 C_{7}^{2}}{n^{2 m}} \sum_{v=0}^{n-1}\left|d_{v, n, m}\right|^{2}=\frac{C_{8}}{n^{2 m+1}} \sum_{k=1}^{n}\left|F_{n}^{(m)}\left(z_{k n}\right)\right|^{2} \\
& \quad \leqslant C_{9}\left(w\left(f, \frac{1}{n}\right)\right)^{2}
\end{aligned}
$$

from which Lemma 3.5 follows. Next we state
Lemma 3.6. We have

$$
\begin{equation*}
\left(\frac{1}{2 \pi} \int_{|z|=1}\left|\sum_{k=1}^{n} \beta_{k n} B_{k, n, m}(z)\right|^{2}|d z|\right)^{1 / 2}=o(1) \tag{3.18}
\end{equation*}
$$

provided

$$
\begin{equation*}
\beta_{k n}=o\left(n^{m}\right), \quad K=1,2, \ldots, n \tag{3.19}
\end{equation*}
$$

where $B_{k, n . m}(z)$ are defined by (1.4). Proof of this lemma is essentially the same as that of Lemma 3.5, so we omit the details.

## 4. Proof of Theorem 1

From (1.15) we have

$$
\begin{align*}
f(z)-I_{n, m}(f, z)= & f(z)-F_{n}(z)+F_{n}(z)-I_{n, m}\left(F_{n}, z\right) \\
& +I_{n, m}\left(F_{n}-f, z\right) \tag{4.1}
\end{align*}
$$

Therefore on using (4.1), (3.2), (3.13), and (3.8)

$$
\begin{aligned}
& \int_{|z|=1}\left|f(z)-I_{n, m}(f, z)\right|^{2}|d z| \\
& \leqslant C_{10}\left\{\int_{|z|=1}\left|f(z)-F_{n}(z)\right|^{2}|d z|\right. \\
&+\int_{|z|=1}\left|F_{n}(z)-I_{n, m}\left(F_{n}, z\right)\right|^{2}|d z| \\
&\left.+\int_{|z|=1}\left|I_{n, m}\left(F_{n}-f, z\right)\right|^{2}|d z|\right\} \\
& \leqslant C_{11}\left(w\left(f, \frac{1}{n}\right)\right)^{2} .
\end{aligned}
$$

From the above Theorem 1 follows at once. Proof of Theorem 2 is a direct consequence of (1.16), (3.18). In a recent paper by Sharma and Vertesi [7], $L_{p}$ convergence of Lagrange interpolation polynomials has been settled. Similar questions can be asked for the operator $I_{n, m}$. We will investigate such problems in another paper.

## References

1. A. S. Cavaretta, A. Sharma, and R. S. Varga, Hermite Birkhoff interpolation in the $n$th roots of unity, Trans. Amer. Math. Soc. 259 (1980), 621-628.
2. O. Kis, Notes on interpolation, Acta Math. Acad. Sci. Hungar. 11 (1960), 49-64.
3. G. G. Lorentz, K. Jetter, and S. D. Riemenschneider, "Birkhoff Interpolation," Encyclopedia of Mathematics and Its Applications, Vol. 19 (in particular, Chaps. XI, XII).
4. S. D. Riemenschneider and A. Sharma, Birkhoff interpolation at the $n$th roots of unity, Canad. J. Math. 33 (1981), 362-371.
5. A. Sharma, Some remarks on lacunary interpolation in the roots of unity, Israel J. Math 2 (1964), 41-49.
6. A. Sharma, Lacunary interpolation in the roots of unity, Z. Angew. Math. Mech. 46 (1966), 127-133.
7. A. Sharma and P. Vertesi, Mean convergence and interpolation in roots of unity, Siam J. Math. Anal. 14 (1983), 800-806.
8. J. Szabados, On some interpolatory procedures based on the roots of unity, Acta Math. Acad. Sci. Hungar. 25 (1974), 159-164.
9. P. Turin, On some open problems of approximation theory, J. Approx. Theory 29 (1980), 23-85.
10. A. K. Varma, On some open problems of P. Turán on Birkhoff interpolation, Trans. Amer. Math. Soc. 274 (1982), 797-808.
